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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 196+ 14 = ? [1%]
2) 4.45+55=7 [1%]
3) 60.2x5=7? [1%]
4) 198 +99=72 [1%]
5) %+ 100% = ? [1%]
6) 222.2-8.88 =72 [1%)]
7) 13.72 + 0.28 = ? [1%]
8) 3.72x25=72 [1%]
9) 37 +9x63=2? [1%]
10) 9.999-8.888 + 1.1 = ? [1%]
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11) Evaluate 1 + 1

1
— . (Give your answer in fraction.)
3 4

[1%]
S+ - Eruanms.)
A 3 4 o =R WAT] 7
12) Evaluate 0.5 + }I — 25% . (Give your answer in fraction.) [1 0/o]

=& 0.5+ % —25% . (BEEUSEERR. )

. (Give your answer in fraction.)
16 64 Y

[1%]
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14) Evaluate %+ 238 N 158 = 175 . (Give your answer in fraction.) [10/0]
i 6.3 .5 .7
Fl-l-% 7 ° 28 ° 18 * 15 o (ﬁ%l’lﬂﬁﬁmo )

15) Evaluate 60% = (11—2+%) . (Give your answer in fraction.) [10/0]
=l = o/, - L i) DA PAS —
n"l-%- 60% = ( 12 + g )° (BERUPE R )

16) During an art lesson, 10 students used an average of [2.0%]

8 origami papers and 6 other students used an average
of 6 origami papers. How many origami papers did
each of the 16 students use on average?

TFEEZR, E10MNREFEIEARTFIMR 8K,
FihE 6 NEZEFEHEART 6 k. 16 LEAZF5F
ANATFIRKZDIR?
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17) After drinking 20% of a bottle of milk, there is 320 [2.1%)]
millilitres left. How many millilitres of milk was there
in the bottle originally?

— W4 IR 20% 1% . BRI 320 BH . B4 YR
BEDEFH?

18) Find the perimeter of the shaded parts. (Express the [2.2%)]
answer in terms of 1.)

KEFZBHBOTHIEAR. (EXU 1T RT. )
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19) There was 6.9 litres of juice. Lily drank 2.5 litres of it  [2.3%)]
and then Sally drank half of the remaining juice. By
what percentage was the amount drank by Sally less
than the amount drank by Lily?

BRIT6IRFHA, IMEET 2.5 AF1E, HEHXIG T ER
TRITH—F. EBHELNEDIETETZ4?

20) There are a tea pot and 3 tea cups in a tea set. 4 tea [2.4%]
sets cost $6500. If the cost of a tea pot is 2 times the
cost of a tea cup, find the cost of a tea cup.

—EZXABEEF 1 EFEEM 3 €4, B 4 EFXHEM
$6500. IMR— 1%@5'3%{“—%;%5@21%, —&
EMHEERZ VT
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21) When a cubic metal and 1.369 L of water are putinto  [2.5%)]
a cubic tank with a length of 15 cm so that the metal
is totally immersed in water, the depth of water is
12 cm. Find the length of the cubic metal in cm.

B—EEFEEBEM 1369 APNKME—EERE
15 EARMIEFBEKGE, EEBTERREKP. HK
NS 12EK, BEAREBHNEREZVEKR?

22) % of the students in a class are qgirls. If there are 8 [2.6%)]

fewer girls than boys, how many students are there

in the class?

b ABUE RIS MREELBED 8 A,

MEEHBREZ DR
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23) There is some water in a tank which is 10 cm long, [2.7%]
12 cm wide, and 16 cm high. When a toy car of
volume 1600 cm? is totally immersed in the water,
400 mL of water will overflow. What is the original
height of the water level in cm?

—{E/XkFiEHE, €10cm ;> B 12cm, & 16 cm. KFI5HE
MEF—LK, 8—42 1600 cm’> HIITEERTLRIRE
kig, SBH T7K 400 mL. FKAIEART L D ENK?

24) Afish tankis 0.4 m long and 35 cm wide. The depth  [2.8%)]
of water in the tank is % m. If the water in the tank
Is poured into glasses of 550 mL, at least how many

glasses are needed to hold all the water?

—(BRELR 0.4 5 P 35 k. kfLd = K. =48
BEIRAKBINTER 550 EFARIMF , EHHEEA
BOBRAREOE?
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25) Cut the largest possible cube from the cuboid below, [2.9%]
then cut another largest possible cube from the rest
of the solid. What is the volume of the remaining
part?

ETAHRAELENE—ERKHNESFE, BEST
M XS —EEKNERE, RESTIERD
EfEE 7

12

13

20

26) The total price of an apple and 2 mangoes is $40.80. [3.0%]
Given that an apple is $9.90 cheaper than a mango,
what is the total price of 2 apples and 3 mangoes?

E—EERMMETRE( 40.8 T. EH— @%%w
—(ETREE 9.9 5T, MMEERM=ETREZ I
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27) Winnie and Wendy walked towards the same direction [3.1%]
with the speeds of 1.7 m/s and 2.5 m/s respectively.
Winnie was in front of Wendy at the beginning. 15
minutes later, Wendy caught up with Winnie. What
was the distance between them at the beginning in
kilometers?

INEEAENMETE, MABFRAR—FRMIT, M
FHFITRFEEREZESBIE 1.7 m/s 1 2.5 m/s. 15 {iE
%, IMEBLENE, MMARKEESDAE?

28) There are 600 cakes of 4 different flavors. 37% of [3.2%]
them are chocolate cakes and 13% of them are
mixed fruits cakes. If the difference between the
percentages of mango cakes and blueberry cakes is
5%, what is the least possible number of mango
cakes?

MaEEHRAES 600 4, TR HEHEMN 37%, ¥
REEE13% TRERENEEEEMEBNENE
BES5%. MTREHEFEVES DM
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29) Solve the equation for x. (Express the answer in decimal.) [3.30/0]

K x BIME. =zpisizz. O

o_éﬁ A
(75@ 2 )y =46

30) Simplify 211 3.4%
) Simplify =223 [3.4%]

1711 prm=as
%iﬂgﬂimﬁo

31) There are 40 questions in a test paper. 3 marks are [4.0%)]
given for every correct answer while 1 mark is
deducted for every wrong answer. No marks are
given or deducted for no answer. Peter got 59 marks.

At least how many questions did Peter answer correctly?

— R EE 40 %BE, BEHEB 3, FHM1 5, R
Z5B 049, NPBE SOy, RDEH TEE?

P10
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32) 1+54+9+ 13+ ...+ 241 +245 =7 [4.1%]
1 20 0
33) If 1+ = , find the value of a. [4.2%]
142 19
q-3
4
241+ =20 | 5 mE.
142 19
q-3
4
34) Find the units digit of 22019 +(0 2019412019 4 9 2019 [4.3%]

22019 +02019+12019 +92019 HI\]ﬂEﬁ—‘-LﬁIEEg{[/\?

P11
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35) In the figure, a rectangle is divided into 5 squares. If [4.4%)]
the largest square has an area of 365, find the area
of the rectangle.

B, —EBRAEETH 5 AEFF. EEFHKX
W—EEFFHEFER 365, KRAMHERE.

1 1 1 1 1
=2
36) 2019 x2016 12016 x 2013 12013 x2010 """ T oxe tex3 ° [4.5%]

P12
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37) The sum of the square of an odd number and the [4.6%]
square of a prime number is 1853. What is the sum
of the cube of that odd number and the cube of that
prime number?

—EEFHNEFE—EEHNTE A2 1853, &
FHRML FHEZESHIILAZRES D?

38) At 7 o'clock and how many minutes will the hour [4.7%]

hand and the minute hand overlap? (Give your answer in
fraction.)

T HERHESHEE? (2zus8mz. )

P13
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39) A, B, Cand D need to finish a project. [4.8%]
If B and D work together, it will take 3% days to
complete.

If A, B and C work together, it will take 2% days to

complete.
If A, C and D work together, it will take 32—33 days to
complete.

How many days does it take to finish the project if A
and C work together? (Give your answer in fraction.)

B, 2. ARMTHEAM—IEIE.
EZRTAALE. BE 32 2.
£8. ZRAZALKE. BE 25 RxH.
EF. BRTZATHE BE3=2 XEA.

EHEMAMAIE, EEZVDXRABETR? (21usK
RLKo )

P14




MathConceptition 2019

40) How many rectangles in the picture below include [4.9%)]
1] X II?

TE+HBZMERAENE [X] ?

End of paper
£E57T

P15
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